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a
X444 7
B
BT XA 44 BEH [T [T [TET -
A b= 9,980 678,187 592, 542 85, 645
X 281 14, 881 12,146 2,735
A4 —1 FKDJR 8 141 56 85
A4 —1 ZEVY - - - -
A4 —1 by NECEZ 19 1, 145 9 963 182
A4 —1 FEH 3 155 3 155 -
A4 —1 NEBFB R 3 130 1 95 35
A4 —1 ) X X
A4 —1 e X X
A4 —1 ST PG X X
A4 —1 SRR X X
A4 —1 2y 3 160 2 146 14
EMmTH4—1 ERE S X X X X X
A4 —1 IR - - - - -
T4 —1 ZHET X X X X X
A4 —1 &L 10 822 5 746 76
A4 —1 /N 4 116 2 91 25
A4 —1 L 22 646 6 383 263
A4 —1 P 7 149 1 65 84
EMmTH4—1 H A X X X X X
A4 —1 WEE 3 124 3 124 -
A4 —1 WET - - - - -
T4 —1 FHEBLA X X X X X
A4 —1 = 21 863 673 190
A4 —1 STHIA 22 1,691 1,548 143
T4 —1 a5 - - - -
T4 —1 W X X X X
A4 —1 FRH - - - - - -
A4 —1 LiTh=3 5 88 2 60 3 28
T4 —1 FE X X X X X X
A4 —1 AT 5 287 3 254 2 33
EMTH4—1 A X X X X X X
T4 —1 JEd - IR R X X X X X X
T4 —1 M1 X X X X X X
T4 —1 25%1 X X X X X X
A4 —1 £ 5%2 3 55 - - 3 55
A4 —1 mstil| 2 77 1 48 1 29
R4 —1 1845 < Fndh L X X X X X X
A4 —1 MN2—1 - - - - -
A4 —1 fif 26 1,203 888 14 315
A4 —1 HH - - - - -
mRAT4—1 AR X X X X X
A4 —1 R HR - - - - -
A4 —1 AL - - - - - -
T4 —1 4% X X X X X X
T4 —1 EF X X X X X X
T4 —1 Bk X X X X X X
T4 —1 1 - - - - - -
T4 —1 WS 3 49 - 49
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AT XA 44 BFEH moFE BFEE LTI EFH [TET -
T4 —1 ik X X X X X X
A4 —1 gl - - - - - -
A4 —1 e - - - - - -
T4 —1 i - - - - - -
T4 —1 AR X X X X X X
T4 —1 il - - - - - -
T4 —1 AR X X X X X X
wERAT4—1 &= X X X X X X
T4 —1 [T HRFE X X X X X X
T4 —1 - X X X X X X
A4 —1 e 3 34 - - 3 34
T4 —1 R X X X X X X
A4 —1 HHdk 9 206 3 114 6 92
T4 —1 EEIR X X X X X X
AT —1 e 4 96 - - 4 96
T4 —1 EEIR2—1 X X X X X X
T4 —1 g X X X X X X
A2 —1 EZR2—1 X X X X X X
ABFRf2—1 AFT2—1 - - - - - -
ABFRf2—1 EET2—1 12 343 5 224 7 119
HIFR2—1 X - - - - - -
HEFR2—1 X X X X X X X
HIFR2—1 JEX 12 852 6 727 6 125
FER2—1 MX2-1 X X X X X X
HIFR2—1 JEPE X 2-1 11 1,006 3 877 8 129
HIFR2—1 JEH X 9 2,673 6 2,618 3 55
HIFR2—1 HX2-1 8 410 3 360 5 50
BrEEst2—1 HR2-1 X X X X X X
HX 956 51, 405 299 39, 820 657 11, 585
BerATHi4—3 EE - - - - - -
A4 —3 % - - - - - -
A4 —3 o) 4 114 1 78 3 36
T4 —3 [lizp=3 X X X X X X
A4 —3 FiiikvA - - - - - -
BerATHi4—3 P - - - - - -
ETi4—3 AR X X X X X X
T4 —3 EAT X X X X X X
A4 —3 T 4 94 2 64 2 30
T4 —3 Kb X X X X X X
T4 —3 FEdk2-2 - - - - - -
A2 —1 x2—1 - - - - - -
A FnH 6 116 - - 6 116
A Kl 5 114 1 46 4 68
A T 6 97 - - 6 97
A B = 6 95 - - 6 95
A JER 4 363 1 320 3 43
A P X X X X X X
A LR 4 96 - - 4 96
A #Z [ 15 394 3 194 12 200
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A JZWIN 13 261 1 32 12 229
A Eov 7 147 2 70 5 77
FnE A g X X X X X X
E EK R 7 300 2 210 5 90
£ EA FrH 6 262 3 203 3 59
£ B FET - - - - - -
£ AT AHA 5 168 2 100 3 68
£ EFY A [ e 4 83 - - 4 83
£ AT BN E): 6 158 1 65 5 93
£ B T — X X X
£ A e — x X X
£ B TErEE = - - -
£ A HE X X X X X X
£ EA o 5 119 1 48 4 71
£ Bk BIFT 8 545 7 528 1 17
£ EA NS 5 109 1 46 4 63
£ A i3] 3 135 3 135 - -
£ EA 7N B 7 267 3 193 4 74
£ EA /N FE 18 637 10 481 8 156
E LAt s o o 13 302 3 103 10 199
£ Bk —HL 6 152 2 91 4 61
£ B Kid 7 258 4 210 3 48
£ A LR 3 90 2 70 1 20
£ A HH 13 466 7 361 6 105
£ EBFY JR 8 167 1 27 7 140
F Bk RE 17 354 3 122 14 232
F Bk T8 7 279 3 214 4 65
F Bk KEH M 7 255 3 170 4 85
£ B A 7 448 1 350 6 98
F Bk TAHEPR 9 263 3 127 6 136
£ EK T HEE 11 264 3 140 8 124
£ EK A HEEE 10 220 2 65 8 155
FEERT TR 14 338 3 119 11 219
FEER 7 ke 14 250 1 53 13 197
FEER NG 10 165 - - 10 165
FEER 1 T\ H 6 124 1 41 5 83
FEER NG 8 598 1 456 7 142
FEERT EINA) 3 48 - - 3 48
FEER T iy B 22 X X X X X X
FEER ey 15 361 1 108 14 253
FEEAT AR 5 63 - - 5 63
FEEA [iiza 53] X X X X X X
FEEAT [ifa 12 281 2 125 10 156
FEERT P4 5 405 4 385 1 20
FEAERT [Epa o 13 982 8 913 5 69
FEER WA 20 758 7 538 13 220
FEER TR 9 168 1 35 8 133
FEER TR 11 304 2 162 9 142
FEER TR 11 1,140 3 1, 004 8 136
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FEERT IR 9 216 3 127 6 89
FEERT T 6 119 1 30 5 89
FEER il 16 5, 450 5 5, 245 11 205
FEER EEvl 8 148 2 62 6 86
FEERT T H 9 361 5 290 4 71
FEER -y 17 380 5 201 12 179
FEER N 13 285 3 119 10 166
FEER W E 8 208 3 139 5 69
FEAERT g} 19 620 7 413 12 207
FEER JUIRAKS 4 73 - - 4 73
FEER ik X X X X X X
FEER R 4 121 3 111 1 10
FEER KT X X X X X X
FEER REAR 6 129 1 35 5 94
FEER Y 29 799 7 419 22 380
FEER - Ak 3 52 1 20 2 32
FEER FomHH 11 1,778 2 1, 620 9 158
FEER FHT 15 388 3 193 12 195
My I — - - - - - -
AFFEHT A 8 367 3 284 5 83
My L - - - - - -
AFFEHT = 5 230 4 205 1 25
A FEHT A U 9 337 3 211 6 126
A FEHT EEi e 15 394 5 202 10 192
A FEHT SEFEE N 20 2, 940 8 2, 686 12 254
EYER R 7 358 4 306 3 52
EYE KE 19 956 12 810 7 146
EYER ot 28 10, 828 14 10, 554 14 274
EYE &k 10 605 4 488 6 117
EYER HET 12 482 5 325 7 157
BrEA =N vl o X X X X X X
EYER HE T 14 495 3 283 11 212
EYE THE 5 127 1 44 4 83
EYER A HE 15 821 9 710 6 111
AT AHHE T 20 566 8 388 12 178
=AY PET X X X X X X
B ) P KEE X X X X X X
EYER PEE 8 323 1 200 7 123
EYE AR 13 745 7 631 6 114
W TS HE 9 560 4 490 5 70
W ETAS HET 11 320 3 158 8 162
o T A A/l = 12 383 3 210 9 173
o T A /N 7 152 1 46 6 106
H BT A NG X X X X X X
o BT A = 15 336 1 88 14 248
W BT Hh BT B 4 74 1 38 3 36
Hh TR R R HT P X X X X X X
o T A —f 7 200 2 104 5 96
AAULE] E#H 6 130 1 42 5 88
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W RS = H 5 153 2 101 3 52
W RS W 17 813 8 633 9 180
W RS s 10 307 3 187 7 120
W RS = 12 505 4 384 8 121
W RS 58 6 209 2 150 4 59
=HFEMe—1 [—Kik2—1 - - - - - -
=HEM2—1  [HREE2-1 - - - - - -
iz 1,786 90, 380 914 76, 848 872 13,532
FLY/NEYE A A 18 831 10 713 8 118
/Y] i 20 1, 361 12 1,220 8 141
FLY/NEYS (Lt 21 1,102 11 953 10 149
FLY/NEYS HE 44 2,276 20 1,879 24 397
FLY/NEYS fpp 4 322 1 270 3 52
/Y] Fu) 32 2,055 22 1, 884 10 171
FLY/NEYS e 28 1, 449 12 1,214 16 235
FLY/NEYS PN 34 1,925 17 1,670 17 255
FLY/NEYS Esig 32 2,885 20 2,679 12 206
FLY/NEYS NG 33 1, 807 21 1, 642 12 165
FL/NEY ) KRG 19 2, 356 16 2,325 3 31
ABFF2—2 ZR2-2 7 262 2 195 5 67
A2 —2 Ar2-2 6 83 - - 6 83
A2 —2 16 et 4 508 2 485 2 23
A2 —2 e 10 232 2 95 8 137
A2 —2 FH Ui 3R 7 124 - - 7 124
ABF2—2 FH i P 8 126 1 30 7 96
ABF2—2 BT 112-2 7 367 2 283 5 84
A2 —2 R 16 713 4 483 12 230
A2 —2 PEREIT 33 1, 560 13 1,217 20 343
ABF2—2 s 9 290 2 152 7 138
ABF2—2 S 11 205 2 64 9 141
ABF2—2 s 12 512 4 396 8 116
HIFR2—2 Px2—2 - - - - - -
HIFR2—2 JEVEX2—2 - - - - - -
HIFR2—2 HX2—2 3 880 3 880 - -
FoHtAy BN 19 823 10 659 9 164
T A T 10 282 5 207 5 75
FoHtAy H R 10 256 4 185 6 71
T AT EALR 28 2, 067 18 1,891 10 176
FoHtAy CIRE 38 2,293 24 2,077 14 216
FoHtAy [Ep NI 16 857 11 769 5 88
FoHtAy =il 38 2,478 28 2, 300 10 178
FoHtAy HORL 23 1,992 16 1, 888 7 104
FoHds R 32 2,893 12 2,611 20 282
e BT Pk 76 3,012 33 2,341 43 671
e AT FrH 30 1,992 21 1,840 9 152
e BT o 17 521 7 392 10 129
ik LAY G 96 4,948 58 4,283 38 665
ke AT RKAA 44 1,644 23 1,330 21 314
ik AT AL 84 4,677 45 3,912 39 765
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TEIRFY FaJE 14 859 9 771 5 88
TSRS LS 10 206 2 95 8 111
TEIRFY HAFT 4 106 1 70 3 36
FEIRFY PEAKS 7 176 3 124 4 52
FEIRFY % 7 255 4 202 3 53
TEIRFY [EPANS 9 364 5 315 4 49
AT N = X X X X X X
TSRS B 12 401 8 360 4 41
AT FLA 7 257 5 235 2 22
FEIRFY st 7 368 6 355 1 13
AT HH X X X X X X
TEIRFY Hi A 4 190 4 190 - -
FEIRFY MHEE, 8 306 4 260 4 46
FEIRFY WEH 6 66 - - 6 66
FEIRFY FEES 10 248 4 182 6 66
FEIRFY 551 5 99 3 79 2 20
TEIRFY [EpAY= 5 121 2 60 3 61
FEIRFY K H 6 180 4 165 2 15
TS FrH 15 449 8 376 7 73
FEIRFY L 14 256 9 205 5 51
TS HfE 11 230 8 190 3 40
TSRS fig i) 11 199 5 115 6 84
FEIRFY G H 10 159 3 73 7 86
FEIRFY WSV 22 774 13 692 9 82
TEIRRY PG R 11 406 7 350 4 56
FEIRFY PR TE 16 489 12 439 4 50
FEIRFY (X277 6 436 4 400 2 36
LA CSYIN 78 5,915 50 5,437 28 478
LA S 44 2,567 26 2,324 18 243
LA RIZIN 27 1, 008 14 790 13 218
LA LR 37 2,074 23 1, 824 14 250
LA =i 81 3,148 48 2,669 33 479
B HE AT B Fn 22 667 7 387 15 280
R E AT AL 15 473 7 328 8 145
B HE AT i 23 541 5 304 18 237
AT e[dlili] 15 442 4 275 11 167
AT Hr T 14 272 2 110 12 162
AT g 16 498 5 331 11 167
BRI PEET X X X X X X
BT frmy 7 453 4 418 3 35
BT Eenlig 11 174 4 86 7 88
BRI HOHT X X X X X X
BT L/ 5 130 2 80 3 50
ST HRR X X X X X X
T FH i X X X X X X
ST NI 38 750 5 259 33 491
ST -E 7 475 3 422 4 53
T # 44 3,162 23 2, 850 21 312
ST [iERals 27 2,611 11 2,355 16 256
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ST LIy 44 1,977 19 1,538 25 439
23153 1,034 48,750 429 38, 490 605 10, 260
A4 —4 & 45 1,726 17 1,267 28 459
A4 —4 w5 11 288 3 176 8 112
A4 —4 & 44 2,251 19 1,754 25 497
A4 —4 2 51 1,774 17 1,121 34 653
A4 —4 JKPN2-2 14 881 8 812 6 69
A4 —4 =5 8 268 3 181 5 87
A4 —4 e 5 153 2 95 3 58
A4 —4 1 5 113 1 50 4 63
LR AR 18 814 4 577 14 237
LR LR 9 159 1 23 8 136
PR Ao H X X X X X X
LR PN - - - - -
baLlEs A 6 151 3 95 3 56
)R FAFESF 3 44 - - 3 44
LR b 7 184 2 111 5 73
LR i 9 808 6 751 3 57
LR 75 E 4 150 2 97 2 53
LR KM 33 1, 637 15 1, 308 18 329
LR R 9 718 5 634 4 84
)R ks 3 193 2 176 1 17
LR il 7 133 3 65 4 68
LR TH 5 83 - - 5 83
P )1 THIS X X X X X X
LR NN 14 252 1 36 13 216
LR e 14 396 3 184 11 212
LR nll 10 269 4 182 6 87
LR & 11 282 4 176 7 106
LR AT 3 133 1 88 2 45
LR EAL! 8 151 - - 8 151
LR [lEpiaed - - - - - -
A2 —2 #A2-2 6 1,148 3 1,102 3 46
A2 —2 g &N 4 109 2 78 2 31
A2 —2 B~ 8 605 3 515 5 90
A2 —2 FH A 4 110 1 78 3 32
A2 —2 HrH 9 146 1 34 8 112
fRER2—2 THRH 14 474 2 243 12 231
A2 —2 KiF 17 956 9 840 8 116
A2 —2 BE 11 326 5 233 6 93
A2 —2 R - - - - - -
A2 —2 5LV 13 247 - - 13 247
fRHF2—2 HE 4 97 1 47 3 50
BRHF2—2 N s 3 72 2 58 1 14
A2 —2 [liprd/ils 7 297 4 249 3 48
A2 —2 TEHH 5 82 - - 82
AT A i) 22 513 5 251 17 262
AT My 9 341 3 240 6 101
LR ELLI 8 225 2 135 6 90
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AT A SOLTLI 10 4,018 5 3,941 5 77
AT A =TT 18 326 3 131 15 195
AT A HR T 3 107 1 75 2 32
AT A & mHT 5 104 2 60 3 44
AT A B =T 5 166 2 111 3 55
HEAT 1= X X X X X X
TR /= 10 466 6 394 4 72
T WET 14 800 6 666 8 134
T ZHFER 14 761 8 677 6 84
T 4N 10 600 8 576 2 24
T | 7 194 3 137 4 57
F (=3 - - - - - -
HERT & e X X X X X X
=T A =T 10 469 6 393 4 76
TR U= 8 3, 900 5 3, 827 3 73
T AT T2 Eh 11 835 10 815 1 20
T AT ATk 6 282 4 234 2 48
F AT 6 J55 A2 = Y 16 801 10 686 6 115
FE S (=T 15 583 7 467 8 116
F [liEp=Tzz) 13 338 4 189 9 149
=T =] 13 412 7 309 6 103
F AT VS D0 = 3 67 1 30 2 37
N7 Pa A H 6 281 4 248 2 33
BrdeF2 —2 53 12 449 4 297 8 152
BrdeF2 —2 e 51 1, 360 16 811 35 549
A2 —2 IINRE 60 2,718 38 2, 369 22 349
2 —2 J=R /N 60 3,330 36 2,919 24 411
2 —2 37 21 1, 206 12 1,027 9 179
2 —2 P/ S=SS 49 2,217 30 1,922 19 295
2 —2 M 2-2 22 790 12 601 10 189
EEZN i 7 104 - - 7 104
EEZN &R 11 227 2 91 9 136
EEZN R R 9 263 2 133 7 130
BE=) R 14 307 2 70 12 237
EEZN ERTE 4 60 - - 4 60
EEZN R 5 104 - - 5 104
EEZN HUEMR 7 124 1 30 6 94
X 3, 451 350, 594 2,266 330, 458 1,185 20, 136
=JEke—2 | —XE 24 1,055 11 830 13 225
=FHEMN2—2 |[—~RI2—2 26 4, 663 10 4,379 16 284
=FHEM2—2 | K 14 441 6 360 8 81
ZhER2—2 [ZX 19 779 4 563 15 216
=FHEM2—2  |PUXEE 22 842 5 606 17 236
ZhER2—2 (X $ 25 1,161 10 915 15 246
=FEM2—2 UKL 44 3, 655 24 3, 391 20 264
= hER2—2 [HK 23 549 7 348 16 201
=HEke—2 | HARYE 29 1, 654 15 1, 404 14 250
ZHEM2—-2 |HHEEH2-2 11 539 8 496 3 43
—ER2—2  [F5 6 220 2 150 4 70
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=FHEM2—2 | 5 250 240 1 10
=FHEM2—2 | 11 535 464 6 71
ZER2—2 [ 5 88 - 5 88
=FEM2—2  |EE 4 345 335 1 10
=FHEMN2—2 |EMEHEE 24 978 798 14 180
=FHEM2—2 |hZF 20 647 448 13 199
ZHEM2—2 |EfE 25 2, 045 1, 847 12 198
ZHEN2—2 [FFEH, THH 25 994 830 11 164
=HER2—2 | KEnTE 22 1,208 1, 050 8 158
=HER2—2  |FJERTL 15 1,754 1,694 4 60
B AT H 39 2,317 1,970 16 347
B AT Wiy 33 2, 854 2,595 14 259
B AT ZHTR 20 3,477 3, 386 5 91
B AT JI 19 3,326 3, 284 3 42
B AT RE 20 1,121 1,017 6 104
B AT R B 24 1,029 893 9 136
B AT A 7 2, 266 2, 266 - -
B AT =17 31 1,886 1,734 12 152
B AT e 21 787 567 13 220
B AT N 11 463 301 8 162
B AT AT 43 1,517 1,153 23 364
B AT Hre 47 3, 644 3,336 18 308
B AT ) 11 223 80 9 143
B AT BR 16 844 737 7 107
B AT ) 36 4,758 4,692 3 66
R R - - - - -
B AT TR 32 2, 650 2,569 6 81
AR AT b 7 496 496 - -
A e 100 8, 800 8,435 22 365
SUERT S 50 3,987 3,740 13 247
SUERT 1 17 439 218 12 221
SUERT SIS Ji] 10 378 262 6 116
SUERT /B 29 3,286 3,203 5 83
SUERT iBAK 3 50 - 3 50
SUERT Bl 7 95 - 7 95
SUERYT CSva) 24 1,421 1, 257 9 164
SUERT B 38 4,338 4,193 8 145
SUERT TR 44 4,344 3,972 20 372
SUERT HX 32 1,910 1,739 10 171
SUERT s 35 3,138 2,934 12 204
HR A 1X 12 361 267 5 94
HR A A Ji] 26 2,393 2,290 6 103
HR A HLH 43 4, 827 4,349 28 478
WY FHIER 41 6, 139 5,993 7 146
HR A 7X 53 3, 400 3,107 18 293
oA 8IX 14 361 235 10 126
HR A 9X 26 1,603 1,476 7 127
HR A i 69 5, 688 5,072 33 616
AFENT 10X 7 561 472 5 89




I e &=
1R REBOH D REFE R E PR — RSeS|

_ HQL : 77, a
T IXHT A4 i R 58 = F EIEEEEEES

BEEETEL
AT X AT A 44 BFEH moFE BFEE [TETI EFH [T

AFRET 11X 9 494 4 412 5 82
AFENT HF12X - - - - - -
A FENT H13X X X X
A FRNT H14X X X X
FHBFF 1K 26 3, 300 20 3,227 6 73
FHBFF 2K 29 1,398 16 1,161 13 237
FHBFF F3X 16 710 7 552 9 158
FHBFF AKX 8 266 3 190 5 76
FHBFF H5X 20 1,742 14 1, 609 6 133
FHBFF F6X 38 2,612 20 2,270 18 342
FHBFF BT 15 1,506 10 1,441 5 65
FHBFF R 35 2,133 22 1,907 13 226
FHBFF SP= 15 1,545 10 1,462 5 83
B LA L% 6 312 3 254 3 58
B LA e 32 8,011 22 7,833 10 178
B LA FH A 11 547 4 407 7 140
B LA S| 14 975 8 857 6 118
B LA HRF 19 1, 699 9 1,507 10 192
B NS 18 915 8 728 10 187
B LA FEiR 7 195 2 103 5 92
B LA i 7 511 5 472 2 39
B LA SFH 4 335 2 310 2 25
B LA FH A1 15 530 7 376 8 154
B LA = 14 787 9 715 5 72
B LA ¥E 37 2,849 24 2,608 13 241
B LA e 8 1, 362 8 1, 362 - -
B LA AR 28 1,013 13 759 15 254
EAR N PEE M 16 844 11 769 5 75
EAR N HAEH 377 3 263 5 114
AT B3 X X X X X
EAR N BHE4ER 166 2 81 4 85
AT G2 X X X X X
EAR N BHE1ER 10 559 3 460 7 99
EAR N BHE5ER 12 696 8 603 4 93
EAR N TRt 13 559 8 467 5 92
EAR N J1144 VEHE 16 476 8 321 8 155
EAR N JI14 AR 9 193 3 105 6 88
EAR NN JI4 Hka 11 420 2 208 9 212
EARN JI14 A 7 295 3 210 4 85
AT 145 kA 5 209 3 158 2 51
S B AR 18 626 9 492 9 134
EEEAT BIFT 42 1, 336 14 810 28 526
EEEAT B35 U 5 i 36 1,516 20 1,236 16 280
PEEAT HR 41 1, 848 18 1, 436 23 412
EEEAT 2 20 575 6 330 14 245
PEEAT [ipia 13 357 3 164 10 193
EEEAT g 20 641 7 384 13 257
PHEAT KK 9 196 1 56 8 140
BHEAS JTAH 8 153 1 45 7 108
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EEEAT eI 16 568 5 338 11 230
PHEAT N EZAR 28 941 10 567 18 374
= HHT A ET 5 231 3 194 2 37
= HHT AR ET 4 162 2 116 2 46
—r AHET L0y 4 355 2 320 2 35
= HHET ) 8 852 7 842 1 10
—r AHET 75K AT 11 1,141 7 1,066 4 75
= HHET RN 3 108 2 88 1 20
—r AHET FiE 44 7,035 42 7,011 2 24
—r AHET HE 2 i 33 4, 205 29 4,146 4 59
= HET fif] A% 68 8,376 61 8,225 7 151
= HET e 19 2,901 17 2, 884 2 17
= HET JEE AT HE 12 1,124 9 1,081 3 43
Z sy HHET JEWN 55 13, 540 53 13,518 2 22
=, HET N 77 17,878 76 17, 864 1 14
= HHET B 51 9, 004 48 8,953 3 51
—r AHT S 108 27, 961 107 27, 944 1 17
= HHT & 37 7,575 35 7,568 2 7
ZHET ER=/N 46 8, 632 42 8,575 4 57
= HHET AR 46 10, 630 44 10, 595 2 35
=, aHT B 47 5,770 38 5,618 9 152
—r AHET TRE 86 12,131 74 11,948 12 183
—r AHET FRE 43 8, 807 42 8,797 1 10
WA b3 13 1,213 9 1,153 4 60
WA LisgE 32 1, 502 15 1, 250 17 252
WA B 45 6, 663 40 6, 590 5 73
WA R KA REER 49 6, 187 46 6, 148 3 39
WA RKAEALER 45 5,158 36 5,043 9 115
WA YN S 37 1,781 21 1,539 16 242
WA FrH 18 627 8 481 10 146
B4 AT P 22 760 10 590 12 170
WA R (R 10 1,379 8 1,324 2 55
WA R KM BB 20 1, 860 15 1,769 5 91
WA R K R 0 33 1,970 22 1,777 11 193
WA R KN P 5 17 932 13 892 4 40
B 1,221 81,227 459 68, 541 762 12,686
JINEF A AN YIS 21 913 4 641 17 272
JINEF A AHT 140 1 45 6 95
JNEF AR FEHT X X X X X
JINEF A == 10 1, 467 1 1, 328 9 139
JINEF A G 6 191 1 103 5 88
JINEF A Pam) 14 393 4 220 10 173
JINEF A N E 20 4,225 8 4,003 12 222
JINEF A PP 11 243 3 130 8 113
JINEF A N T 23 1, 159 10 903 13 256
SN A LS N= 16 324 1 63 15 261
JNEF A = Iif] X X X X X X
JINEE A Rl 16 1,518 5 1,307 11 211
SN A O AR 22 1,201 7 935 15 266
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JINEE A FrH 22 997 5 687 17 310
JINEE A e 13 2,144 11 2,119 2 25
JINEF A FE T - - - - - -
JINEE A ey X
JINEE A PEHT X
Bl e -
Jeiss AR X X X X X
Jeiss R VY X X X X X
Bl 4 3 60 - - 3 60
b ieAt 2k 17 391 2 133 15 258
b ieAt ST 10 493 2 380 8 113
Bl FEL 20 598 7 420 13 178
b ieAt SF R 7 106 - - 7 106
Ak R PE 3 49 - - 3 49
Bl LS 8 159 2 60 6 99
Je et B 3 44 - - 3 44
b ieAt e 7 220 3 155 4 65
b At L EST 6 182 2 119 4 63
ek H—f 8 198 1 70 7 128
Bl [FEJ PN 8 119 - - 8 119
Bl [Pl 4 54 - - 4 54
b At [EE ks 4 127 2 92 2 35
et [FEJ-NN X X X X X X
b At ARG H 10 321 3 213 7 108
b ieAt ARGV X X X X X X
Bl HAR 8 229 2 114 6 115
Bl BSVAIVA 30 1,575 19 1, 404 11 171
Bl TR 33 1,675 16 1, 366 17 309
|l ) &1k X X X X X
et #1TF X X X X X
|l ) &3 X X X X X
|l ) &2 X X X X X
ERia) ) 10 1, 464 4 1, 344 6 120
B g 12 411 3 248 9 163
Eia) K I 13 406 3 266 10 140
ERia) AN 10 234 4 138 6 96
ERia) i 4 65 - - 4 65
ERia) =) 4 98 2 68 2 30
LA FELSON AN 8 200 2 120 6 80
ERia T B 5 3, 539 3 3,510 2 29
R HRE T X 22 380 3 112 19 268
R HE2 X 28 616 11 396 17 220
R HE3 X 6 901 3 850 3 51
R A HEA X 10 393 2 250 8 143
R HES X 18 6, 282 8 6,135 10 147
R HE6 X 24 826 10 590 14 236
R A HRE 7 X 16 297 4 117 12 180
R HES X 20 1,127 5 898 15 229
FRAERT TREL X X X X X X
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IRPEERT HRE2 X 9 190 1 31 8 159
IRPEERT HRESX 14 3,287 4 3,109 10 178
IRPEERT HREARK 8 170 2 91 6 79
IRPEERT HRES X 12 3,676 3 3, 541 9 135
IRPEERT HRE6X 13 420 4 310 9 110
IRPEERT REETIX 7 205 1 90 6 115
IRPEERT HRPESK 23 904 8 673 15 231
IRPEERT HRPEIX 22 827 7 565 15 262
IRPEERT FRPE10X 27 1,790 5 1, 382 22 408
FRAERT TRPE13X X X X X X X
AT B TEAN 9 250 5 170 4 80
& TAT K¥F 69 6, 492 52 6, 200 17 292
B JK AR 17 955 13 890 4 65
i EAT KEH 33 1,003 9 589 24 414
AT % 29 2,955 13 2,691 16 264
AT Lign] 45 4, 263 24 3, 856 21 407
AT He 28 1, 369 14 1,131 14 238
AT R 44 3,376 23 2,970 21 406
BN T 7 596 3 544 4 52
AT B 42 2,180 22 1, 867 20 313
& TAT T 73 2,905 29 2,157 44 748
& TAT NS 55 3,213 18 2,597 37 616
FEEA sl 10 482 5 402 5 80
XERX 1,251 40, 950 368 26, 239 883 14,711
T ARHET K= X X X X X X
T ARHET [om] e X X X X X X
—A{RAT AL - - - - - -
—fRmy [yt 5 160 1 100 4 60
—fRmy Jite - - - - - -
T{RHET TREL 4 80 - - 4 80
T {RHET “AREE2 - - - - - -
SIS A= 4 140 1 104 3 36
SRR F B - 2R 8 182 1 40 7 142
SIS HTE - K% - $E T 4 80 - - 4 80
SeAAT HRR X X X X X X
SRR AN 4 133 1 76 3 57
SERAAS THA - - - - - -
SRR ITES 10 172 - - 10 172
SRR SeHT - - - - - -
SeRAAT K& X X X X X X
SERAAS AEa 3 80 1 60 2 20
SIS ok 15 666 8 566 7 100
SIS Gl 5 67 - - 5 67
SR AT TE R 19 828 6 596 13 232
SIS FEHE 6 409 5 391 1 18
SERAAS PN 10 378 7 336 3 42
IRCE S wA - - - - - -
I IEAy) it} X X X X X X
RO ETT) (LS - - - - - -
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BT SEi2 19 578 9 415 10 163
ERCE S KR 8 208 2 83 6 125
ERCE S PR 5 76 1 15 4 61
I IEARyE) " X X X X X X
IRCE S oAy < 13 292 3 130 10 162
ERCE S FE 17 568 5 380 12 188
IRCE S ER 16 298 2 68 14 230
ERCE S i 20 1,020 10 857 10 163
IZEZT PR 15 888 6 788 9 100
IZEZT e 7 117 - - 7 117
I EES=ER W1 /55 10 348 2 200 8 148
I EES=ER HR 9 215 2 90 7 125
INIETT) SEH X X X X
INCEAY S =T X X X X
INCEY S PN - - - -
I EES=ER H - - - - - -
REAT AT 167 1 75 6 92
RerT A - - - - - -
REAT 4 10 781 9 771 1 10
RERT PO X X X X X X
REAT = 6 202 4 177 2 25
REAT ZeH 3 78 2 63 1 15
RerT L4 - - - - - -
REAT HEF 4 102 1 55 3 47
REAT K Hi B 5 120 1 47 4 73
REFT g 4 135 2 95 2 40
RerT I - - - - - -
REAT ik X X X X X X
REFT AR 8 160 2 86 6 74
REAT Z IR 5 98 1 32 4 66
REAT PEARIR B X X X X X
RERT g X X X X X
REFT SERIR 6 126 2 65 4 61
REAT Hil 11 741 7 676 4 65
REAT HAE 7 301 5 278 2 23
REAT N 3 110 2 100 1 10
RerT B - - - - - -
)14 H - - - - - -
LD HRS X X X X X X
&) IA it 3 117 1 97 2 20
&) IA PEX 4 155 2 125 2 30
ELER) RIFFE 5 186 2 140 3 46
ELER) TR 6 128 1 40 5 88
ELER) PNIEFN 5 271 5 271 - -
)14 KA - - - - - -
ELER) A 3 102 1 82 2 20
LD Gt X X X X X X
)14 K - - - - - -
L) FEEE 4 74 1 27 3 47
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) R 5 80 - - 5 80
)14 i - - - - - -
ELER) s 7 124 1 44 6 80
ELER) A TH] 7 156 1 58 6 98
ELER) WEA 14 203 - - 14 203
ELER) FEA 7 236 2 146 5 90
pN 0 Frip 22 1, 440 12 1, 269 10 171
pN 0 XS 7 279 1 160 6 119
pNH SR 11 330 2 118 9 212
pNH VB 8 258 4 184 4 74
pNH RN 5 92 - - 5 92
PN e - - - - - -
pN 0 KIE 10 347 221 8 126
PN B 3 40 - - 3 40
pN 0 Hrl 5 117 - - 5 117
N [lifiEE 9 267 3 166 6 101
KEH TN 7 127 1 35 6 92
KEHT i 6 156 1 38 5 118
BEZ0) I AR H 11 306 3 160 8 146
KEH EEY 10 394 2 240 8 154
&R AR 8 164 1 64 7 100
KEH il 6 105 - - 6 105
ESEZN) SHET 3 37 - - 3 37
ESE2N) K[HEH - - - - - -
S E2N] &mE X X X X
S E2N] =l X X X X
KEHT b= 4 77 1 40 3 37
S E20] [ X X X X X X
20 R[] 6 160 2 95 4 65
KER R 8 151 1 30 7 121
KEH L 17 505 6 313 11 192
KEH e HH 17 454 3 180 14 274
S E2N] I X X X X X X
ESE2N) £ - - - - - -
ESE2N) IIMRERTAL - - - - - -
REEDAS R 35 1,346 16 975 19 371
REETAHT AITAT 10 363 1 200 9 163
REEDAS & 10 318 2 156 8 162
REGDFY AR E 11 643 8 603 3 40
REEDFY K — 8 601 6 579 2 22
REEDFY ' 21 1, 859 17 1,775 4 84
REEDFY 7 = 15 1, 054 9 911 6 143
REEDAS JI B3 — 8 550 3 483 5 67
REEDAS JI 55— 10 178 2 70 8 108
REGDFY AT PN 23 1,594 21 1,558 2 36
REGDFY AT 7 926 7 926 - -
REETARS bydig 5 550 4 535 1 15
REGDFY b= 3 50 - - 3 50
REGDAY KIRF 5 149 3 115 2 34
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REETAS il 13 611 4 449 9 162
REEDAS BRI 5 148 2 93 3 55
REEDAS FFn 11 458 5 345 6 113
BEILIART gl 7 288 5 252 2 36
BEILAT wA 9 348 2 210 7 138
BELARS HA 12 383 6 280 6 103
BEILAT fifi 84 4 84 - - 4 84
BELARS A - - - - - -
BELARS s - - - - - -
BEILAT EPr X X X X X X
BEILAT T 25 509 3 132 22 377
BEILAT WAL 1 X X X X X X
BEILAT WATLEE 2 13 332 4 173 9 159
BEILAT WAL 10 338 6 273 4 65
BELARS I - - - - - -
T HR X X X X X X
I 1my JIlE 11 192 - - 11 192
T S X X X X X X
I LT RE 4 60 - - 4 60
T kit X X X X X X
I 1T iy 4 70 - - 4 70
T FH R X X X X X X
Iy AN:EE 4 52 - - 4 52
I LT =5 5 82 - - 5 82
I 1y TN X X
T Hi\ X X
I 1T FnLiFE - -
I LT L 6 102 - - 6 102
I LT FuiE 6 97 1 30 5 67
Iy JIE 5 71 - - 5 71
YN stz X X X X X X
YN SYE % 3 53 - - 3 53
Ve A FF T 9 146 - - 9 146
YN SYE P 5 80 - - 5 80
Ve A EFF F35 15 311 1 42 14 269
YN SYT YN X X X X X X
YN SLE HER 3 43 - - 3 43
LA K 15 509 8 376 7 133
LR R - - - - - -
LR = - - - - - -
LAY fak X X X X X X
HLIEAF fER 5 90 - - 5 90
LI FF FniR 5 103 - - 5 103
LI FT MR 3 40 - - 3 40
LR W - - - - - -
LAY P X X X X X X
LR st - - - - - -
LA Ial= 4 73 1 30 3 43
LAY L 14 694 5 514 9 180
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IRVEFT B 4 80 1 35 3 45
IRVEFT KA 5 58 - - 5 58
IRVEFT i 4 64 - - 4 64
IRVEFT T 6 66 - - 6 66
KPR 4 H 19 565 6 299 13 266
SR VG A I X X X X X X
IRVEFT HEIE 4 65 - - 4 65
KPR B4 6 107 - - 6 107
KPR N = 7 100 - - 7 100
IRVEFT il 4 61 - - 4 61
IRVEFT BRIR - - - - - -
SR VG A = X X X X X X
IRVEFT SEJF - - - - - -
KPR FHH 11 299 4 168 7 131
RS EHE& 6 111 1 40 5 71
KPR T HA 5 112 1 44 4 68
JKEERT K7 X X X X X X
IKEENT 1R 15 259 - - 15 259
IKEENT EE 3 140 3 140 - -
IKEENT /I 22 418 3 110 19 308
JKEENT Eol 12 190 - - 12 190
IKEENT KR 13 239 2 100 11 139
JKEERT VE{RT 19 405 2 101 17 304
JKEEHT FOR 5 60 - - 5 60
IKEENT Ka - - - - - -
IKEENT KEF 5 95 - - 5 95
IKEENT Bt 14 355 3 168 11 187
IKEENT EF 15 286 2 86 13 200
IKEENT 1) JE 12 146 - - 12 146
JKEERT Hi A X X X X X X
IKEENT FA - - - - - -
IKEENT RPN R - - - - - -
TKEENT P AT X X X X X X
JKEERT ESESRS - - - - - -




